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ENGLISH VERSION

Instructions :
(1) You are required to attempt any four questions.
(2) All questions carry equal marks.
1 The balance sheets of Sanyam Ltd. as on Dt. 31-3-2020 and
Dt. 31-3-2021 are given below :
Liabilities 31-3-2020 31-3-2021
(Rs.) (Rs.)
* Share Capital 3,00,000 4,00,000
* Capital Reserve - 10,000
* General Reserve 50,000 65,000
* P&L Account 1,70,000 2,00,000
* Creditors 1,00,000 1,20,000
* Bills Payable 40,000 30,000
* Provision for Income Tax 90,000 80,000
* Proposed Dividend 36,000 48,000
7,86,000 9,53,000
Assets Rs. Rs.
* Machineries (at cost) 5,00,000 6,00,000
Less :- Depreciation —1,50,000 —1,70,000
3,50,000 4,30,000
* Trade Investments 80,000 60,000
* Stock 2,00,000 2,63,000
* Debtors 1,06,000 1,50,000
* Bank Balance 30,000 40,000
* Preliminary Exp. 20,000 10,000
7,86,000 9,53,000
During the year ended 31-3-2021 the company :
(1) Income tax paid Rs. 90,000.
(2) Sold trade investments at profit which was credited to
Capital Reserve.
(3) Sold one machine for Rs. 30,000 the cost of which was
Rs. 60,000 and depreciation provided on its was Rs.
20,000.
(4) Decided to write off fixed assets costing Rs. 10,000
(fully depreciated).
From the above informations prepare “Fund Flow Statement”.
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2  Following are the summarized balance sheets of Shubham Ltd.
as on 31-3-20 and 31-3-21 :

Liabilities 31-3-20 | 31-3-21 | Assets 31-3-20( 31-3-21
Share Capital 1,12,500 | 1,12,500 | Fixed Assets 1,00,000( 80,000
General Reserve 75,000 77,500 | Investments 12,500 15,000
P&IL. Account 7,500 8,750 | Stock 50,000 48,750
Creditors 22,500 18,750 | Debtors 50,000| 1,13,750
Tax Provision 18,750 2,500 | Bank Balance 39,750 49,250
Debentures — 67,500 | Bills Receivable| 10,000 3,750
Capital Reserve 6,500 8,250
Bills Payable 19,500 14,750

2,62,250 |3,10,500 2,62,250(3,10,500

Additional Informations :

ey
)

Dividend paid during the year amounted to Rs. 10,000.
Investment costing Rs. 2,000 were sold during the year

2020-21 for Rs. 2,125 and new investments worth

Rs. 4,500 were purchased.
Net profit was Rs. 15,500 after debiting the depreciation

3)

of Rs. 17,500 on fixed assets and tax provision made
Rs. 2,500.

@

During the year part of the fixed assets costing Rs. 2,500

was sold for Rs. 3,000. The profit was included in the
profit and loss account.

From the above informations, prepare “Fund Flow Statement”.

3  The standard mix of one product is as follows :

Material Kgs. Price per kg. (Rs.)
A 50 5.00
B 20 4.00
C 30 10.00

The standard loss in production is 10% of the input. There
is no scrap value. Actual production was 7200 kgs. Actual
consumption of material and cost were as follows :

Material Kgs Price per kg (Rs.)
A 4160 5.50
B 1680 3.75
C 2560 9.50
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You are required to calculate the following variances.

ey
)
3)
4)
()

Material cost variance
Material price variance
Material usage variance
Material mix variance
Material yield variance

4  Rewrite the following table filling the blanks with missing figures,
show necessary calculations.

Material Std. Std. | Actual | Actual Material Material Material
Quantity | Price Use Price Cost Price Usage
(Kgs.) (Rs.) | (Kgs.) per Variance Variance Variance
(Rs.) (Rs.) (Rs.) (Rs.)
A 1400 21 1540 - - —) 2695 -
B 1050 | 14 910 | — ©) 1225 _ _
C 1750 | 17.560 - 15.75 - - (—) 3675

5 Saloni Ltd. is supposed to complete a job no. 007 in 40 weeks. The
workers of the job and their wages details are as follows :

Particulars Types of workers
Skilled Semi- Un-
skilled skilled
*  Standard :
No. of workers 40 50 60
Weekly standard Rate Rs. 50 Rs. 40 Rs. 30
* Actual :
No. of workers 45 35 80
Weekly standard Rate Rs. 60 Rs. 50 Rs. 40

Job no. 007 1s completed in 45 weeks. Calculate the labour
variance.

6  Information of GMH Ltd. for the month of July 2021 are as under :

Particulars
Production units during
the month
No. of working days during
the month
No. of workers employed
Average monthly wages per
worker
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20,000

25
250

Rs. 500

Actual

24,000

24
200

Rs. 600
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Calculate :

ey
)
3

Labour cost variance
Labour rate variance

Labour Efficiency Variance

7  Anita company manufactures a single article and sell it at
Rs. 10 per unit. The variable cost is Rs. 6 per unit and fixed cost
is Rs. 4,000 per annum. Calculate from above informations :

ey
)
3)
4)
()

Profit volume ratio

The break-even Sales

The margin of safety if total sales are Rs. 15,000
The sales required to earn a profit of Rs. 5,000
The amount of profit when sales is Rs. 15,000

8  The details relating to production of “A” and “B” of Maheshwari
Ltd. are given below. Identical material is used in production of
both the products.

Particulars Product A Product B
Per Unit Per Unit
(Rs.) (Rs.)
Ll Selling Price .................. 150 240
|| Direct Material (Rs. 7.50 per kg)..... 45 90
| Direct Labour (Rs. 4 per hour) ...... 30 54
| Variable Overheads ..................... 15 24
| Total Fixed Overheads Rs. 90,000

Assuming that raw material is the key factor and only 60,000
kgs of material are available and maximum of 6000 units
of both can be sold.

What should be the production of each of them so that
maximum profit can be obtained.
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